Sr Questions Answers Choice

. Rabbit
. Owl
. Cat
. Human

1 is unable to see during day time.

. Chemistry

. Optics

. Biology

. Coordination

2 Ibn- al- Haytham is famous for his book.

. Succulus
. Stapes

. Vestibule
. Cochlea

3 The sensory part of ear is:

. Cornea
. Iris

. Selera
. Retina

4 The sensory layer of eye is:

. Cell body

. Dendrites

. Axons

. Myelin Sheath

5 Nucleus and cytoplasm of neurons located in:

. Harmones

. Nephrons

. Neuroglial calls
. Receptors.

6 The nervous system consists of billions of neurons and:

. Effectors
. Stimuli
. All of these

7 The organs which are specifically built to detect particular type of stimulus are called.

8 A coordinated action has components:

o Ul w

. Biology

. Botany

. Opthmology
. Zoology

9 Ali Ibn-e-Isa book on study of disease and surgery of eye is:

. Reflex action
. Reflex arc

. Neuron

. Spinal card

10 The pathway followed by the nerve impulses for producing a reflex action is called.

. Myopia

. Blindness

. Deafness

. None of these

1" The elongation of eye-ball results in.

. Insulin

. Thyroxin

. Glucagon

. Pepsinogen
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